






 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

(N=38)

 

(N=32) 

p   

  

(N=38) 

 

(N=32) 

p  

 (mm) 2.50 (0 – 9.3) * 1.31 (0 – 3.7) * p < 0.0001 † 

X  (mm) -1.13 (-5.5 – 1.3) * 0.48 (-1.1 – 2.9) * p < 0.0001 † 

Y  (mm) -1.71 (-7.8 – 1.3) * 0.03 (-3.4 – 1.7) * p < 0.0001 † 

X Y  

*  

† Welch t  



  

 

 

 

  p   p  

 0.0788 0.6383 0.0329 0.8580 

BMI 0.1831 0.2712 0.1766 0.3336 

CE  0.4297 p = 0.0071 0.0567 0.7579 

VCA  0.5105 p = 0.0011 0.0329 0.8583 

HLI 0.5161 p = 0.0009 0.3121 0.0821 

CE VCA HLI

 

 

 



 

 

 

 

 




